Mounting of CT/PR/BT/CP
CONLAN readers

Direct mounting with enclosed screws and plugs or by means either a mounting plate or a
framework as described here:

Mounting plate (Art. No.: 460081):
Mounting plate in stainless steel allows for quick and easy mounting on all types of surfaces.
The mounting plate contains:

1 pcs 2 mm stainless steel plate
4 pcs Machine screws M3x10

2 pcs Screws 4x40

2 pcs Plugs 6x30

Wall plugs
Mounting plate

\ Steel screws
Reader unit
Machine screws M3x10mm

Front label (self adhesive)

Framework for mounting (Art. No.: 460035) (white RAL 9016):

Framework allows guick and easy mounting on all surfaces. Forms for the cable outlet in all directions.

Art. No.: 460035 (Anthracite grey 7016)

Art. No.: 460039 (Silver RAL 9006)

Other colors made by order. ol
The framework contains: : cl
1 pcs Frame (H x W x D) 156 x 76 x 15 !
4 pcs Machines screws M3x12

\\ Framework : — .

Reader unit
Machine screws M3x12mm
Front label (self adhesive)

Mounting of CT/PR/BT/CP
CONLAN readers

Direct mounting with enclosed screws and plugs or by means either a mounting plate or a
framework as described here:

Mounting plate (Art. No.: 460081):
Mounting plate in stainless steel allows for quick and easy mounting on all types of surfaces.
The mounting plate contains:

1 pcs 2 mm stainless steel plate
4 pcs Machine screws M3x10

2 pcs Screws 4x40

2 pcs Plugs 6x30

Wall plugs
Mounting plate

\ \ Steel screws
Reader unit
Machine screws M3x10mm

Front label (self adhesive)

Framework for mounting (Art. No.: 460035) (white RAL 9016):

Framework allows quick and easy mounting on all surfaces. Forms for the cable outlet in all directions.

Art. No.: 460035 (Anthracite grey 7016)

Art. No.: 460039 (Silver RAL 9006)

Other colors made by order. ol
The framework contains: : a

1 pcs Frame (HxW x D) 156 x 76 x 15 ‘ |
4 pcs Machines screws M3x12

Reader unit
Machine screws M3x12mm
Front label (self adhesive)

\\ Framework : — —



o
S
T
= @
£ % W, o o @ nMv
P Te) w m O £ . \@- e
ol ¥ © EEs-{O 1 E
o oER ) . -
- 052 x 3] =
= o8 1! “ welk
14 «® v - E| = m
| (@ & m ol © |
0
@ g,
| |
M
9|0y 8|qeo Wi Sz X 620 | |
Bunup alojaq uoneIo| S,9|qe E
3] %08yd 0s ‘suonelen b
asned ued Bunses eyl aloN donsmand, | L Y L
/N Bnid 4P Ww 'R

&
T
|4, O |3
— = £ |
o m, - mmm @ ' | _nlv
of @ EZ-© fal e
- <35 " welh =
v » v JE| = m
@ " o R
wn
] - (& RN
&) i)
e
io|oy ajgeo W §ZX 620 | |

Buljup aiojag uoneoso| s,9|qed
QU1 Y29yd 0S ‘suonelren
asned ued @C_Hm.mo leyl al0ON dO/LEMdILD. ,

VA Bnid 1P Ww '

25 mm

[
\



